CHAPTER 16
activity-based budgeting

  questions for writing and discussion 

1.
The master budget has been criticized for the following reasons: it does not recognize the interdependencies among departments, it is static, and it is results, rather than process, oriented. These criticisms are especially apparent when companies are in a competitive, dynamic environment. When the environment changes slowly, if at all, the master budget would do a good job of both planning and control.

2.
A static budget is one that is not adjusted for changes in activity. Using a static budget for control can be a real problem. For example, suppose that the master (static) budget is based on the production and sale of 100,000 units but only 90,000 units are actually produced and sold. Further, suppose that the budgeted variable cost of goods sold was $2,000,000 and that the actual variable cost of goods sold was $1,890,000. It looks as if the company spent less than expected for variable manufacturing costs. However, the budgeted variable cost was $20 per unit ($2,000,000/100,000), and the actual variable cost per unit is $21 per unit ($1,890,000/90,000). Not adjusting the budget for changes in activity level can mislead managers about efficiency.

3.
A flexible budget is (1) a budget for various levels of activity, or (2) a budget for the actual level of activity. The first type of flexible budget is used for planning and sensitivity analysis. The second type of budget is used for control, since the actual costs of the actual level of activity can be compared with the planned costs for the actual level of activity.

4.
Efficiency is achieved when the business process is performed in the best possible way. Effectiveness means that a manager achieves or exceeds the goals described by the static budget. Yes, one can exist without the other. For example, suppose that 100,000 units are supposed to be produced, but, due to materials shortages and a work stoppage, only 80,000 units are produced. If the 80,000 units are produced with little or no waste, the manager has been efficient, but not effective. Alternatively, a manager can achieve greater than planned production, but not at the lowest planned cost. This manager is effective, but not efficient.

5.
The activity-based budget starts with output, determines the activities necessary to create that output, and then determines the resources necessary to support the activities. This differs from the traditional master budgeting process in that the master budget leaps directly from output to resources. Some of the resource levels are assumed to be fixed. This makes them independent of volume changes and hides the drivers that actually do affect the fixed resources. As a result, the budget format does not support the creation of value and the thinking that would go into determining the sources of waste.

6.
Feature costing assigns costs to activities and products or services based on the product’s or service’s features. These features are based on variation in the product or service. The more diverse the mix of products, services, or customers, the more features that must be considered. For example, a printer manufacturer may offer a number of models with different features, e.g., color versus black and white, or scanning capability. These features give rise to different activities and different costs.

7.
Goal congruence is important because it means that the employees of an organization are working toward the goals of that organization.

8.
Both monetary and nonmonetary incentives are used to encourage employees of an organization to achieve the organization’s goals. Monetary incentives appeal to the economic needs of an individual, and nonmonetary incentives appeal to the psychological needs. Since individuals are motivated by both economic and psychological factors, both types of incentives ought to be present in a good budgetary system.

9.
Participative budgeting is a system of budgeting which allows subordinate managers 
input into how the budgets are established. Participative budgeting communicates a sense of responsibility to subordinate managers and fosters creativity. It also creates a higher likelihood of goal congruence since managers have more of a tendency to make the budget’s goals their own personal goals.

10.
Agree. Individuals who are not challenged tend to lose interest and provide a lower level of performance. A challenging, but achievable, budget tends to extract a higher level of performance.

11.
Top management should provide guidelines and statistical input (e.g., industrial forecasts), review the budget to minimize the possibility of budgetary slack, and ensure that the budget is compatible with the strategic objectives of the firm. Top management should also provide the incentive and reward system associated with the budgetary system.

12.
By underestimating revenues and overestimating costs, the budget is more achievable.

13.
A static budget is for a particular level of activity. A flexible budget is one that can be established for any level of activity. For performance reporting, it is necessary to compare the actual costs for the actual level of activity with the budgeted costs for the actual level of activity. A flexible budget provides the means to compute the budgeted costs for the actual level of activity after the fact.

14.
Frequent feedback is important so that corrective action can be taken, increasing the likelihood of achieving the budget.


15.
To meet the budget, it is possible to take actions that reduce costs in the short run but increase them in the long run. For example, lower-priced, lower-quality materials can be substituted for the usual quality of materials.

16.
Productivity, personnel development, market share, and product quality are all measures that may be used to discourage myopic behavior. A manager would have to be rewarded for improvements achieved in each area. A major difficulty is determining how much weight to assign to each performance area.

17.
Behavioral factors can make or break a budgetary system. It is absolutely essential to consider the behavioral ramifications. Ignoring them can and probably will produce dysfunctional consequences.

18.
Incremental budgeting uses last year’s budget as a base and generally provides an incremental increase (or decrease) to obtain the budget for the coming year. Zero-base budgeting, on the other hand, requires the budget for the coming year to be fully justified. The base for the coming year is zero, and any amounts other than zero must be justified.

19.
Padding the budget is less likely in a zero-base budgeting system because existing operations are analyzed individually, and continuance of the activity or operation must be justified on the basis of need or usefulness to the organization. Nothing is taken for granted, and everything must be justified.

Exercises
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First, separate fixed and variable costs for each category using the high-low method.

Maintenance:

V = ($20,500 – $13,350)/(3,000 – 1,700) = $5.50

F = Y2 – VX2 = $20,500 – $5.50(3,000) = $4,000

Maintenance cost = $4,000 + $5.50 DLH

Supplies:

V = ($3,480 – $1,972)/(3,000 – 1,700) = $1.16

F = $3,480 – $1.16(3,000) = 0

Supplies cost = $1.16 DLH

Power:

V = ($2,250 – $1,275)/(3,000 – 1,700)  = $0.75

F = $2,250 – $0.75(3,000) = 0

Power cost = $0.75 DLH

Other:

V = ($9,450 – $9,255)/(3,000 – 1,700) = $0.15

F = $9,450 – $0.15(3,000) = $9,000

Other costs = $9,000 + $0.15X




1,800 Direct




Labor Hours
Maintenance [$4,000 + ($5.50 ( 1,800)]
$13,900

Depreciation
10,200

Supervision
15,000

Supplies ($1.16 ( 1,800)
2,088

Power ($0.75 ( 1,800)
1,350

Other [$9,000 + ($0.15 ( 1,800)]

9,270

Total
$51,808
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1.


Zebro Products




Overhead Budget


For the Year Ended December 31, 20XX




Formula
30,000 DLH*


Variable costs:




Maintenance
$0.20
$
6,000




Power
0.50
15,000




Indirect labor
1.50

45,000




Total variable costs


$
66,000


Fixed costs:




Maintenance

$10,000




Indirect labor

43,600




Rent


24,000




Total fixed costs



77,600

Total overhead costs


$143,600

*Counter wipes: (0.01 ( 500,000)
5,000


Floor wipes: (0.05 ( 500,000)
25,000



Total DLH
30,000
2.
10% higher:



Zebro Products




Overhead Budget


For the Year Ended December 31, 20XX




Formula
33,000 DLH*


Variable costs:




Maintenance
$0.20
$
6,600




Power
0.50
16,500




Indirect labor
1.50

49,500




Total variable costs


$
72,600


Fixed costs:




Maintenance

$
10,000




Indirect labor

43,600




Rent


24,000




Total fixed costs



77,600

Total overhead costs


$150,200

*30,000 DLH ( 110% = 33,000

16–2
Concluded


20% lower:




Zebro Products




Overhead Budget


For the Year Ended December 31, 20XX




Formula
24,000 DLH*


Variable costs:




Maintenance
$0.20
$
4,800




Power
0.50
12,000




Indirect labor
1.50

36,000




Total variable costs


$
52,800


Fixed costs:




Maintenance

$10,000




Indirect labor

43,600




Rent


24,000




Total fixed costs



77,600

Total overhead costs


$130,400
*30,000 DLH ( 80% = 24,000
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Zebro Products




Performance Report


For the Year Ended December 31, 20XX


Actual
Budget
Variance
DLH for units produced
30,500
30,500
0

Production costs:


Maintenance
$
15,600
$
16,100
$
(500)
F


Power
17,250
15,250
2,000
U


Indirect labor
89,000
89,350
(350)
F


Rent

24,000

24,000

0


Total
$145,850
$144,700
$1,150
U

Flexible budget amounts are based on 30,500 DLH:


[(0.01 ( 550,000) + (0.05 ( 500,000)] = 30,500 DLH


Maintenance
$10,000 + $0.20(30,500) =
$16,100


Power
$0.50(30,500) =
15,250


Indirect labor
$43,600 + $1.50(30,500) =
89,350
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1.
Sales revenue:




Pessimistic

Expected


Optimistic



Sleepeze
$2,250,000
$
3,000,000
$
3,600,000



Plushette
3,000,000
4,200,000
5,040,000



Ultima

1,800,000

5,000,000

6,000,000



Total sales
$7,050,000
$12,200,000
$14,640,000
2.
Expenses:




Pessimistic

Expected


Optimistic



Salaries
$
130,000
$
130,000
$
130,000


Depreciation
20,000
20,000
20,000


Office supplies & other
21,000
21,000
21,000


Advertising:



Sleepeze & plushette
20,000
20,000
20,000



Ultima
270,000
750,000
900,000


Commissions
262,500
360,000
432,000


Shipping:



Sleepeze
625,000
750,000
900,000



Plushette
500,000
600,000
700,000



Ultima

150,000

375,000

375,000

Total expenses
$1,998,500
$3,026,000
$3,498,000
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1.
Activity-based budget:


Research:




Salaries
$
30,000




Internet connection

1,920
$
31,920


Shipping:




Salaries
$
24,500




Telephone
2,500




Ship sleepeze
750,000




Ship plushette
600,000




Ship ultima

375,000
1,752,000


Jobbers:




Salaries
$
18,750




Telephone
2,500




Commissions

360,000
381,250


Basic ads:




Salaries
$
16,000




Advertising

20,000
36,000


Ultima ads:




Salaries
$
20,750




Advertising

750,000
770,750


Office management:




Salaries
$
20,000




Depreciation
20,000




Supplies and Internet

14,080

54,080

Total


$3,026,000
2.
Clearly, shipping is the most costly activity, followed by ultima advertising and commissions to jobbers. It would be worthwhile to investigate shipping costs to see if those could be reduced, for example, by getting bids from several shippers. It is unlikely that ultima advertising can be reduced the first year. It is a very different and expensive model, and consumers may need to be educated as to its benefits. Another method of selling to retail stores might be worth investigating; for example, the use of a salaried sales staff.
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1.
Overhead rate = $423,167/13,446 = $31.47 per machine hour

Month
Predicted Overhead
Actual Overhead
Variance
January
$
31,470
$
32,296
$
826
U

February
29,267
31,550
2,283
U

March
34,617
36,280
1,663
U

April
33,044
36,867
3,823
U

May
36,820
36,790
30
F

June
37,764
37,800
36
U

July
38,865
40,024
1,159
U

August
37,449
39,256
1,807
U

September
33,673
33,800
127
U

October
38,079
33,779
4,300
F

November
37,984
37,225
759
F

December

34,113

27,500

6,613
F


Total
$423,145
$423,167
$
22
U

2.
The regression for overhead costs as a function of machine hours gives the following formula:




Overhead cost = $8,699.64 + $23.71 MHrs.

Month
Predicted Overhead
Actual Overhead
Variance
January
$
32,410
$
32,296
$
114
F

February
30,750
31,550
800
U

March
34,781
36,280
1,499
U

April
33,595
36,867
3,272
U

May
36,440
36,790
350
U

June
37,152
37,800
648
U

July
37,981
40,024
2,043
U

August
36,915
39,256
2,341
U

September
34,069
33,800
269
F

October
37,389
33,779
3,610
F

November
37,318
37,225
93
F

December

34,401

27,500

6,901
F


Total
$423,201
$423,167
$
34
F


The flexible budget based on machine hours is better than the budget using only the plantwide overhead rate because the flexible budget divides overhead costs into fixed and variable components. This division would at least give the controller the ability to make a rough calculation of the marginal cost of running additional machine hours at the factory. However, the regression equation on which the flexible budget is based is not particularly good (adjusted R2 of 0.345).
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1.
The multiple regression for overhead cost gives the following formula:


Overhead cost = $6,035.99 + $4.56 MHrs. + $771.10 setups + $29.94 PO

Month
Predicted Overhead
Actual Overhead
Variance
January
$
32,485
$
32,296
$189
F

February
31,642
31,550
92
F

March
36,227
36,280
53
U

April
36,643
36,867
224
U

May
36,868
36,790
78
F

June
37,971
37,800
171
F

July
39,583
40,024
441
U

August
39,041
39,256
215
U

September
33,972
33,800
172
F

October
34,356
33,779
577
F

November
37,359
37,225
134
F

December

27,037

27,500

463
U


Total
$423,184
$423,167
$
17
F


The flexible budget based on multiple regression is much better than the one based on simple regression. Multiple regression enables the controller to use three independent variables, each based on a different driver. We can see that the R2 has improved considerably (to 0.99). In addition, if we compare the monthly variances of the two budgets, the flexible budget using three variables shows a much smaller monthly variation. As a result, this budget will be more useful to the controller for planning and decision making. Finally, the use of the three independent variables moves the factory closer to the more powerful technique of activity-based budgeting.
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2.
The multiple regression for overhead cost gives the following formula:




OH = $5,715.47 + $3.74 MHrs. + $767.03 setups + $34.68 PO + $887 Party

Month
Predicted Overhead
Actual Overhead
Variance
January
$
32,287
$
32,296
$
9
U

February
31,670
31,550
120
F

March
36,341
36,280
61
F

April
36,648
36,867
219
U

May
36,850
36,790
60
F

June
37,702
37,800
98
U

July
40,150
40,024
126
F

August
39,083
39,256
173
U

September
33,901
33,800
101
F

October
33,878
33,779
99
F

November
37,235
37,225
10
F

December

27,364

27,500

136
U


Total
$423,109
$423,167
$
58
U


The flexible budget based on multiple regression with the four variables is better than the one using multiple regression with three variables. The R2 for both regressions is 0.99, so that is not the deciding factor. Instead, we see that the addition of the “Party” variable begins to move the budget even more in the direction of activity-based budgeting, since the throwing of the parties is an activity. In this case, we see that each party costs the factory about $887. Now, managers can begin to balance the cost of the parties with the benefits (probably improved morale).
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1.


Orchard Fresh, Inc.




Overhead Budget


For the Month of May





Activity Level




Formula

375 hours*


Variable costs:




Maintenance
$0.80
$
300




Supplies
0.20
75




Power
0.40

150




Total variable costs


$
525


Fixed costs:




Depreciation

$
400




Salaries


1,500





Total fixed costs



1,900

Total overhead costs


$2,425
*DLH for standard fruit boxes: (5/60)(1,500)
125



DLH for gift baskets: (15/60)(1,000)
250



Total DLH
375
2.
DLH for extra gift baskets = (15/60)(200)
= 50


Variable overhead cost for extra gift baskets
= 50 ( $1.40




= $70


Original budgeted overhead cost
$2,425


Plus extra variable overhead cost

70



Revised overhead for May
$2,495
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1.
Fixed costs:




Rent




Depreciation




Salaries




Utilities




Janitorial services




Accounting and financial services




Insurance




Other expenses


Variable costs:




Office supplies, driver is number of patients




Medical supplies, driver is number of 15-minute time slots

2.


Dorian Dermatology Associates




Overhead Budget


For the Month of May

Rent


$
1,200

Depreciation


1,000

Supplies [(800 ( $10) + (1,200 ( $5)]


14,000

Salaries


Office manager

$2,083


Medical assistants

3,000


Receptionist


1,250
6,333

Utilities


500

Janitorial services


250

Accounting and financial services


2,000

Insurance


3,000

Other expenses



700

Total


$28,983
16–10

1.






Cost per
Amount of
Total




Activity


Driver

Unit of Driver

Driver


Cost


Scheduling




appointments
No. of phone calls
$
1.00
875
$
875


Initial screening
No. of patients
7.25
800
5,800


Assisting doctors
No. of procedures
7.25
400
2,900


Filing insurance
No. of claims
9.27
650
6,026


Handling disputed




claims
No. of disputed claims
123.50
40
4,940


Providing facilities




8,550



Total



$29,091
2.
Clearly, the cost of each disputed claim is quite high. The office manager should think about the reasons why claims are disputed, e.g., errors in filing the initial claim or failing to provide sufficient information for unusual diagnoses. Then, perhaps the number of disputes can be reduced.
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1.
a.
An imposed budgetary approach does not allow input from those who are directly affected by the process. This can tend to make the employees feel that they are unimportant and that management is concerned only with meeting budgetary goals and not necessarily with the well-being of its employees. The employees will probably feel less of a bond with the organization and will feel that they are meeting standards set by others. An imposed budgetary approach is impersonal and can give employees the feeling that goals are set arbitrarily or that some people benefit at the expense of others. Goals that are perceived as belonging to others are less likely to be internalized, increasing the likelihood of dysfunctional behavior. Furthermore, imposed budgets fail to take advantage of the knowledge subordinate managers have of operations and local market conditions.


b.
A participative budgetary approach allows subordinate managers considerable say in how budgets are established. This communicates a sense of responsibility to the managers and fosters creativity. It also increases the likelihood that the goals of the budget will become the managers’ personal goals, due to their participation. This results in a higher degree of goal congruence. Many feel that there will be a higher level of performance because individuals who are involved in setting their own standards may work harder to achieve them. When managers are allowed to give input in developing the budget, they tend to feel that its success or failure reflects more personally on them.

2.
a.
In an imposed budgetary setting, communication flows from the top to the bottom and is mostly a one-way flow. Any upward flow would have to do with understanding the budgets being communicated. For participative budgeting, the communication flows are necessarily in both directions, with much of the communication being initiated by subordinate managers.


b.
The first communication process leaves the impression that the opinions and thoughts of lower-level managers are unimportant. They may feel that no input is being solicited because their input is not valued. The second process, however, conveys the impression that opinions and views are important and valued. This tends to create a greater feeling of worth to the organization and a stronger commitment to achieving its goals.

problems
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1.
Participative budgeting communicates a sense of responsibility to subordinate managers and fosters creativity. Since the subordinate manager creates the budget, the goals of the budget will likely become the manager’s personal goals, resulting in a higher degree of goal congruence. Many believe that the increased responsibility and challenge provide nonmonetary incentives that lead to a higher level of performance because it is felt that individuals who are involved in setting their own standards work harder to achieve them. It also involves individuals whose knowledge of local conditions may enhance the entire planning process.


Certain disadvantages or problems are also associated with participative budgeting. Managers may tend to either set the budget too loosely or too tightly. Participative budgeting also creates the opportunity for managers to build slack into the budget by underestimating revenues or overestimating costs. Another problem is that top management may assume total control of the budgeting process and, simultaneously, seek superficial participation of lower-level managers. The participation is generally limited to an endorsement activity, and no real input is sought. In this case, the advantages of participation are negated.

2.
Scott Weidner’s participative budgetary policy has certain deficiencies. They are as follows:


a.
Managers do not participate in setting the appropriation target figure. Recommendation: Managers should have the opportunity to give some input as to what the target figure will be.


b.
Setting an upper spending constraint gives indirect approval to spending up to that level whether justified or not. Recommendation: Use zero-base budgeting.


c.
Setting prior constraints such as maximum limits and inclusion of noncontrollable fixed expenditures prior to departmental input defeats the purpose of participative management. Recommendation: Divisional constraints should be known to management prior to budgeting, but individual limits should be determined with the input of managers.
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d.
Arbitrary allocation of the approved budget defeats the purpose of a participative budgeting process. Recommendation: The department managers should be involved in the reallocation of the approved budget.


e.
The division manager holds back a specified percentage of each department’s appropriation for discretionary use. Recommendation: Contingency funds should not be part of a departmental budget. These funds should be identified and provided for before the allocation process to departments.


f.
Exception reporting and evaluation based on performance must be accompanied by rewards. Recommendation: Recognition should be given to those attaining budget goals, not just exceptions.
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1.
a.
The new budget system allows the managers to focus on those areas that need attention. Dividing the annual budget into 12 equal parts allows the managers to take corrective action before the error is compounded (frequent feedback is provided). Also, the company has segregated costs into fixed and variable components, an essential step for good control. A major weakness of the budget is the failure to properly define responsibility. Because of this, supervisors are being held accountable for areas over which they have no control.


b.
The performance report should emphasize those items over which the manager has control. The report should also compare actual costs with budgeted costs for the actual level of activity. Currently, the report is attempting to compare costs at two different levels: the original budget for 3,000 units with the actual costs for production of 3,185 units. A flexible budgeting system needs to be employed.
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2.


Berwin, Inc.




Machining Department Performance Report


For the Month Ended May 31


Budget
Actual
Variance
Volume in units
3,185
3,185
0

Costs:


Direct materials
$25,480
$24,843
$
637
F


Direct labor
29,461
29,302
159
F


Variable overhead

35,354

35,035

319
F



Total variable costs
$90,295
$89,180
$1,115
F

Fixed manufacturing costs:


Indirect labor
$
3,300
$
3,334
$
34
U


Depreciation
1,500
1,500
0


Taxes
300
300
0


Insurance
240
240
0


Other

930

1,027

97
U



Total fixed costs
$
6,270
$
6,401
$
131
U

Total costs
$96,565
$95,581
$
984
F

3.
Berwin’s budgetary system could be improved by offering monetary and nonmonetary incentives to reach budget goals. The managers and supervisors should be allowed and encouraged to participate in the budgetary process because they will be responsible for controlling the budget. The controller should ensure that budget objectives are based on realistic conditions and expectations. The managers should be held accountable only for costs over which they have control.
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1.


Westcott, Inc.




Performance Report


For the Year 2003


Actual Costs
Budgeted Costs*
Budget Variance
Direct materials
$
440,000
$
480,000
$40,000
F

Direct labor
355,000
320,000
35,000
U

Depreciation
100,000
100,000
0

Maintenance
425,000
435,000
10,000
F

Machining
142,000
137,000
5,000
U

Material handling
232,500
240,000
7,500
F

Inspections

160,000

145,000

15,000
U


Total
$1,854,500
$1,857,000
$
2,500
F

*Budget formulas for each item can be computed by using the high-low method (using the appropriate cost driver for each method). Using this approach, the budgeted costs for the actual activity levels are computed as follows:


Direct materials: $6 ( 80,000


Direct labor: $4 ( 80,000


Depreciation: $100,000


Maintenance: $60,000 + ($1.50 ( 250,000)


Power: $12,000 + ($0.50 ( 250,000)


Material handling: $40,000 + ($6.25 ( 32,000)


Inspections: $25,000 + ($1,000 ( 120)
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2.
Pool rates:
$1,100,000/100,000
= $11 per DLH




$672,000/300,000
= $2.24 per MHr.




$290,000/40,000
= $7.25 per move




$225,000/200
= $1,125 per batch


Note: The first pool has material and labor cost included.


Unit cost:


Pool 1:
$11 ( 10,000
=
$110,000


Pool 2:
$2.24 ( 15,000
=
33,600


Pool 3:
$7.25 ( 500
=
3,625


Pool 4:
$1,125 ( 5
=

5,625



Total


$152,850




Units


÷
10,000



Unit cost

$
15.29
3.
Knowing the resources consumed by activities and how the resource costs change with the activity driver should provide more insight into managing the activity and its associated costs. For example, if moves could be reduced to 20,000 from the expected 40,000, then costs can be reduced by not only eliminating the need for four operators, but by reducing the need to lease from four to two forklifts. However, in the short run, the cost of leasing forklifts may persist even though demand for their service is reduced.




20,000 moves
40,000 moves

Material handling:




Forklifts
$
40,000
$
40,000




Operators
120,000
240,000




Fuel

5,000

10,000




Total
$165,000
$290,000

The detail assumes that forklift leases must continue in the short run but that the number of operators may be reduced (assumes each operator can do 5,000 moves per year).
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1.


Actual Costs
Budgeted Costs
Budget Variance

Direct labor
$210,000
$200,000
$
10,000
U


Power
135,000
85,000
50,000
U


Setups

140,000

100,000

40,000
U



Total
$485,000
$385,000
$100,000
U


Note: Budgeted costs use the actual direct labor hours and the labor-based cost formulas. Example: Direct labor cost = $10 ( 20,000 = $200,000; Power cost = $5,000 + ($4 ( 20,000) = $85,000; Setup cost = $100,000 (fixed).

2.


Actual Costs
Budgeted Costs
Budget Variance

Direct labor
$210,000
$200,000
$10,000
U


Power
135,000
149,000
14,000
F


Setups

140,000

142,000

2,000
F



Total
$485,000
$491,000
$
6,000
F


Note: Budgeted costs use the individual driver formulas: Direct labor = $10 ( 20,000; Power = $68,000 + ($0.90 ( 90,000); Setups = $98,000 + ($400 ( 110).

3.
The multiple-cost-driver approach captures the cause-and-effect cost relationships and, consequently, is more accurate than the direct-labor-based approach.
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1.
The flexible budgets presented are based on three different activity levels, none of which coincides with the actual level of performance for November. The budget must be restated to a level of activity that matches the actual results. The fixed and variable components of the mixed costs must be segregated and a budgeted cost calculated for the level of activity attained.
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2.


Patterson Company




Selling Expense Report


For the Month of November



Monthly Expenses

Budget


Actual


Variance


Advertising and promotion
$1,200,000
$1,350,000
$150,000
U

Administrative salaries
57,000
57,000
0

Sales salariesa
84,000
84,000
0

Sales commissionsb
327,000
327,000
0

Salesperson travelc
187,200
185,000
2,200
F

Sales office expensed
500,500
497,200
3,300
F

Shipping expensee

705,000

730,000

25,000
U


Total
$3,060,700
$3,230,200
$169,500
U

a($75,600/72)(80) = $84,000

b($300,000/$10,000,000)($10,900,000) = $327,000

cChange in cost: $175,000 – $170,000 = $5,000


Change in sales dollars: $10,625,000 – $10,000,000 = $625,000


Variable cost per dollar of sales = Change in cost divided by change in activity level




$5,000/$625,000 = $0.008 per dollar of sales


Fixed cost at 72-person level:




$170,000 – ($10,000,000 ( 0.008) = $90,000


Fixed cost at 80-person level:




($90,000/72) ( 80 = $100,000


Total travel budget:




$100,000 fixed + ($10,900,000 ( 0.008) variable = $187,200

dChange in cost: $498,750 – $490,000 = $8,750


Change in number of orders: 4,250 – 4,000 = 250


Variable cost per order: $8,750/250 = $35


Fixed cost: $490,000 – (4,000 ( $35) = $350,000


Total office expense budget:




$350,000 + (4,300 ( $35) = $500,500

eChange in cost: $712,500 – $675,000 = $37,500


Change in number of units: 425,000 – 400,000 = 25,000


Variable cost per unit: $37,500/25,000 = $1.50


Fixed cost: $675,000 – (400,000 ( $1.50) = $75,000


Total shipping expense budget:




$75,000 + (420,000 ( $1.50) = $705,000
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1.
a.
John Scott—Denny perceives John Scott, the controller, as a man concerned only with numbers, who has little understanding of the production process. Even though John is the controller for Denny’s division, Denny seems to feel that John is working against him rather than with him. He does not feel that John can give him any meaningful help or suggestions for change.


b.
Corporate headquarters—Denny feels that corporate headquarters will not listen to any of his suggestions and that they are unaware of Denny’s efforts over time. He feels that headquarters has little interest in him and even though he has a position of responsibility, he has little impact on decision making.


c.
The cost report—Denny does not feel that the cost report contains information which accurately reflects his performance. He does not perceive it as a tool which can help him in any significant way. It is something that hurts him and does not help.


d.
Himself as a production manager—Denny feels that, because of the reports, corporate headquarters has a negative impression of him as a manager. He perceives that even though there has been an improvement in production, it has gone unnoticed and that the negative evaluations could be endangering his job.


All of the perceptions could make Denny feel that he is fighting a losing battle. He probably feels that he has no hope for advancement, and he is probably experiencing more and more dissatisfaction. He may either give up and quit trying for additional improvements and just play it safe, or he may look for another job.
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2.
There are certain deficiencies in the budgetary system. First, the system is a static one, not a flexible one. If the system was a flexible budget system, it would reflect the cost budgeted for that level of production. The report that is now issued does not reflect the number of units produced so that there can be a comparison between the number of units budgeted and the actual number produced.


The overhead is not broken out into fixed and variable costs, nor are costs identified as controllable or uncontrollable. Basically, the report does not include enough detail to show where the actual cost variances are and what might be the reason behind them.


The following items could be implemented into the budgetary system in order to improve it:


1.
Frequent feedback on performance


2.
Flexible budgeting capabilities


3.
Monetary and nonmonetary incentives


4.
Participation


5.
Realistic standards


6.
Controllability
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1.
a.
The reasons that Marge Atkins and Pete Granger use budgetary slack include the following:



They are hedging against the unexpected, thereby reducing uncertainty and risk.



The use of budgetary slack allows employees to exceed expectations and/or show consistent performance. This is particularly important when performance is evaluated on the basis of actual results versus budget.



Employees are able to blend personal and organizational goals through the use of budgetary slack as good performance generally leads to higher salaries, promotions, and bonuses.


b.
The use of budgetary slack can adversely affect Atkins and Granger by:



Limiting the usefulness of the budget to motivate their employees to top performance.



Affecting their ability to identify trouble spots and take appropriate corrective actions.



Reducing their credibility in the eyes of management.



Also, the use of budgetary slack may affect management decision making as the budgets will show lower contribution margins (lower sales and higher expenses). Decisions regarding the profitability of product line, staffing levels, incentives, etc., could have an adverse effect on Atkins’ and Granger’s departments.

2.
The use of budgetary slack, particularly if it has a detrimental effect on the company, may be unethical. In assessing the situation, the specific standards that should be considered are:


Competence: Clear reports using relevant and reliable information should be prepared.


Integrity: Any activity that subverts the legitimate goals of the company should be avoided. Favorable as well as unfavorable information should be communicated.


Objectivity: Information should be fairly and objectively communicated. All relevant information should be disclosed.
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1.
a.
The flexible budget for May is based on 4,800 units.


Revenue (4,800 ( $240)


$1,152,000


Less variable costs:



Direct material ($60 ( 4,800)

$288,000



Direct labor ($44 ( 4,800)

211,200



Variable overhead ($36 ( 4,800)

172,800



Variable selling ($12 ( 4,800)


57,600



Total variable costs



729,600

Contribution margin


$
422,400


Less fixed costs:



Factory overhead

$180,000



General and administrative


120,000

300,000

Operating income


$
122,400

b.



Flexible






Actual


Budget


Variance

Revenue

$1,152,000
$1,152,000
—

Less variable costs:


Direct material
320,000
288,000
$32,000
U


Direct labor
192,000
211,200
(19,200)
F


Variable overhead
176,000
172,800
3,200
U


Selling expense

92,000

57,600

34,400
U

Contribution margin
$
372,000
$
422,400
$50,400
U


Less fixed costs:



Factory overhead
180,000
180,000
—



General & administrative

115,000

120,000

(5,000)
F

Operating income
$
77,000
$
122,400
$45,400
U

2.
Richmond may be encouraged by the revised data as most of the variable cost variance is not his responsibility. The direct labor variance is favorable, indicating that the cost-cutting measures that he implemented in the manufacturing area have been effective. The report shows unfavorable budget variances for direct materials and variable selling expense. Richmond may be encouraged to work with the people responsible for these areas to control costs.
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1.
Advantages:


a.
It provides flexibility for operating under unknown circumstances, such as an extra margin for discretionary expenses in case budget assumptions on inflation are incorrect or adverse circumstances arise.


b.
Additional slack may be included to offset the costly setups from design changes and/or small lot size orders.


c.
The increased pressure to meet 2003 earnings per share targets may result in postponing expenditures into 2004 or aggressively pulling sales into 2003. Budgetary slack in 2004 may compensate for shifting those earnings from 2004 into 2003.


Disadvantages:


a.
It decreases the ability to highlight weaknesses and take timely corrective actions on problem areas.


b.
It decreases the overall effectiveness of corporate planning. Actions such as pricing changes or reduced promotional spending may be taken from a perceived need to improve earnings, when eliminating the budgetary slack could accomplish the same objective without marketplace changes.


c.
It reduces management incentives to exercise cost control.

2.
Zero-base budgeting (ZBB) could be advantageous to Artech Corporation’s overall budget process for the following reasons.


a.
The ZBB process evaluates all proposed operating and administrative expenses as if they were being initiated for the first time. Each expenditure is justified, ranked, and prioritized according to its order of importance to the overall corporation, not just its role in one department.


b.
The focus is on evaluation of all activities, rather than just incremental changes from the prior year. This allows addressing activities which have been ongoing to determine if they are still useful in the current environment. The objectives, operations, and costs of all activities are evaluated, and alternative means of accomplishing the objectives are more likely to be identified.

collaborative learning exercise
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1.
a.
This situation is a top-down budgeting process because all the decisions and underlying assumptions are made by top management without consulting subordinates. The top-down budgeting process can be compared to a participatory budgeting process in the following ways.



There is little or no participation by subordinates in the top-down process. On the other hand, the participatory process begins at the lower levels of management, allowing subordinates to develop initial assumptions and budgets and to input departmental needs based upon their knowledge of the market or product manufacturing system.



For top-down budgeting, only top management decisions are considered; participatory budgeting requires joint decision making where all levels of management provide input.


b.
The advantages associated with a top-down budgeting process include:



Assurance that the overall corporate objectives will be incorporated in the budget.



Avoiding departmental considerations and achieving consistency among departmental budgets.



Completion of the process in a timely manner as little organizational interaction is involved.



The likelihood that budgeting slack is not built into the budgeting goals and projections.

2.
a.
The personal behavioral issues that Jack Cadence, as the founder of ATC, may face in initiating a formalized budgeting process include:



The desire to hold on to something he has nurtured since inception and considered his sole prerogative.



The difficulty in accepting/recognizing that, as the company has grown, he cannot manage most aspects of the business by himself.

16–21
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b.
The behavioral problems for the remainder of the employees of ATC that may result from the top-down budgeting process include:



Actions of subordinates that may not enhance the overall interest and goals of the organization.



Tendencies to feel the goals are unattainable since they did not participate in the process.



A general feeling among employees that the budget is imposed. This could lead to anger, fear, mistrust, and a sense of helplessness, resulting in a reactionary attitude towards problem solving rather than a proactive one. The counterproductive attitude of the employees may cause them to discuss and complain with other individuals in the organization through the grapevine causing nonproductive group alliances.

3.
a.
To initiate a participatory budgeting process, Cadence and Cross could have recommended the following:



That a meeting of all departmental managers be held to announce the initiation of a formalized participatory planning and control process and, further, that managers’ input would be essential.



That guidelines be developed, such as corporate global objectives and constraint limitations, to be communicated to the operations managers in order for them to develop their respective assumptions, forecasts, and budgets.



Create a budget subcommittee of the various departments to review the budget at different submission levels, negotiate and efficiently allocate available financial and other resources, and give general guidance to ensure overall corporate objective compliance.
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b.
Advantages associated with the participatory budgeting process include:



A method that promotes the involvement, understanding, and commitment of the employees in the budget process, instilling an ownership feeling and acceptance of the corporate goals.



Involving employees in the decision-making process, which provides the opportunity for fresh and creative ideas.



Training employees, by participation in the process, to make more difficult decisions and to consider alternative courses of action due to resource constraints, etc., which prepares them to become better leaders.



Participants experiencing job enlargement, increased self-esteem, job satisfaction, and fulfilled needs.
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Answers will vary.

cyber research case
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Answers will vary.
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